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CE-201 A : Cost Accounting - 1

Time : 2 Hours)

(1) Attempt any two questions from Section-1.

Instructions :
(2) Section-2 is compulsory.

Section -1
1. (A) Define Cost Accounting and explain its advan 10
(B) Explain the elements of cost. 10
10

2. (A) From the following inf@ngt'

(1) Economic order g t
(2) Ordering | u\
(3) '

(4)

12,000 units
¥a
T 60
arrying cost 20%
L ime :
Maximum 30 Days-
Minimum 10 Days
Daily consumption :
Maximum 300 units .

Minimum 100 units
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(A) From the following information of Ravi

1J-126

material "M"™.

: o
(B) From the following information of Sodam Ltd.. prepare stock register for Raw

Date Particulars | Units | Cost per unit Method of
(%) valuation
J 01-12-2020 | Op. Bal. 900 4.00
[ -12-2020 | Purchase 1,800 6.00
[ 13-12-2020 | Issue 1,500 = LIFO ¢
15-12-2020 | Purchase 2,100 6.00
21-12-2020 | Issue 2,400 =
26-12-2020 | Purchase 900 8.00
30-12-2020 | Issue 300 =
verage

(I) Time wages

(2) Piece wages

(3) Wages as per Hal
(4) Wages as per

(5) Effective rat

Tim

ra

n e

(3)
(4)
(5)

m

n 80 hours

er hour T 20

Separation method
New appointment (replacement) method
Flux method
Equivalent Annual Turnover Rate as per Separation method
Equivalent Annual Turnover Rate as per Replacement method
900

plan
ur as per Halsey plan
00 hours

Number of workers on dated 01-12-2020

Number of workers on dated 31-12-2020
Number of workers left during Dec. 2020

Number of workers appointed during Dec.2020

\

1,100

50

250

(of which 100 workers were appointed under expansion plan)

6

10

wing information of Ronik Limited, calculate labour turmover rate

10



4. Ronak Lid., has three production de
% and Y. The following information a

Overhead Expenses

partments A, B, C and two service departments
re available for the year ended on 31 -03-2020,

20

(1) Rent and rates ¥60,000

(2) Insurance of machines {24,000 &

(3) Canteen expenses ¥ 25,000 & \
(4) Stores overhead T 48,000

(5) Lighting expenses £ 15,000

(6) Indirect wages ¥ 55,000 0\
(7) Depreciation on machinery ¥1,20,000

(8) Power T 84,000

(9) Contribution to ESI 312,000

Other Information:

Particulars A X Y

Area occupied (sq. 5,000 . 1,000 1,000
feet)
Value of machines (3) 1L#,0 : 3,00,000 | 1,00,000 | 1,00,000
No. of workers 30 20 5 5
Direct materials 50,000 | 6,00,000 | 2,50,000 - -

No. of light paints 5 20 15 10 5
Direct wa 4,50,000 | 2,50,000 | 2,00,000 | 50,000 50,000
H. a 6 4 2 1 1

Prépare a'Statement showing distribution of overhead among various departments.

Section - 2
ect correct answer. (any five)
Which of the following is a product cost ?

(a) Direct material

(c) Salesmen’s commission (d) Interest on loan
(2)  Which of the following is a period cost ?

(a) Canteen expenses | (b) Office rent

(¢) Salesmen’s commission (d) Direct material
(3)  Which of the following is not a costing method ?

(a)  Batch costing (b) Job costing

(c) Marginal costing (d) Contract costing
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(b)  Administrative staff salary |

10
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(4) Which of the following is a stock valuation method ?
@ FIFO (v) LIFO
(¢) Weighted average (d) Allofthe above

(5) Which of the following is most profitable quantity 7
(b) Minimum quantity

(a) Economic order quantity
(d) - Maximum quantity

(c) Average quantity
(6) In which of the following methods goods remain in the closing stock

purchases ?

(a) LIFO - (b) FIFO
(d) All of the ab

\

ylor’s differential piece wage system

(c) Weighted average
(7)  Which of the following is a bonus as per Halsey

(a) 50% of time wages (b) 50%ofk

(c)  50% of time saved
(8) Which of the following method i

(a) Halsey plan
(c) Rowan plan ‘
(9)  Which of the fol \g
(a) Profits
(c)

a

Time wages
group incentive wage system ?
(b) Piece wage
(d) Time wages

(10) owing base is the base of allocating electricity expenses ?
e power (b) No. of light points
t wages (d) None of the above

ich of the following method is used for segregation of semi variab]e
verheads 7

(a) Simultaneous aquatinn'method
(b) Trial and error method
(¢) High and low point method
(d) None of the above
(12) Which of the following is the base of allocating canteen expenses 7
(a) Direct material (b)  Indirect materia
(c) Indirect wages (d) None of the above

—
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CE-201 A : Cost Accounting - 1

Time : 2 Hours] [Max. Mar

Yudl: (1) Eewste] Hiell 0@ 3 A usll- ovdiol @l

2)  Rewi2 seguid 8. \
| [QAeL-1
1L (A) usaR Baioll wal-dl carval 240 d-i srieL 14m 10
(B) WscReAL cteell AHonell. 10
(2) «zel

S
1wzl
(3) e
4)

12,000 2zl

Yse3 B z5
{5z Y-l Wl T 60

2. (A) [ R A skl 10

(1) 2ubls azdl sl

s v 20%
HlEl Honddl el HHA _
HiSTH 30 [Baxdl
agriH 10 ol
BAs QuRiaL:
HedH 300 sl
agH 100 A5l
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oy’ 2l 0l AR SR

(B) s [@G2s-l Al SRl uzl sl HaHHA | S
ARl Qa1 gl | AsH E-r“"'“mi! e 5
| I |
01-12-2020 | w3zl »usl 900 | 4.00 S —
06-12-2020 | wilEl 800! 600 =
13-12-2020 | =i4e 1,500 = (i) LIFO 49
15-12-2020 | wizlel 2,100 6.00
21-12-2020 | 2i4& 2.400 . (glsl) Fig
26-12-2020 | wzlel 900 8.00
30-12-2020 | e 300 " B}, EEIEN

(3)  dedl Bl
(4) 2 Wy L

3. (A) =0 RRZ AL AR HlEdl wadl el 531
(1) MY dd-
(2) selddd 6
of

(5) | A 5EISELS AUBIRS Aot B3
100 s&usL
80 s&15l
& At £3 720

t521 2l s1HERIH] wald

(2) Al E sHERHL (AL vald

(3) Yt vl

(4) 2l ade sPERIAL e A Here e Ulfls rordl £
(5) YRl Yald Hore sa Alfls B e

dl. 01-12-2020-1 317 sHERIHL 20wy 900

dl. 31-12-2020-1 217 s1ERH] v 1.100
[S2304z-202041 6521 48e sIHERIHL v 5

[s3301z- 202040 A e sl vy 55

(% 451 100 5IHERL [zt dleeA Ea0 i)
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el sl AlRAL ubedl wrall AR 2umE W Broted] gl aedEl 53 -

L
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4. s QBRI 1 Gy el A, B, C 217 6L At @ewll X »A Y 6. dL 31-03-

20201 3oy ML L 4y Hi2 AR Wl Guass 6 20
e vy

(1) Gl 2 931 7 60,000

(2) ALl 7 24,000

(3) Bl vzl % 25,000

(4)  T2IRAALYRIEL ] 7 48,000

(5)  lovoil wal % 15,000

(6) WR1&t Hogdl ¥ 55,000
(7) =l guRl ¥ 1,20,000
(8) IR 7 84,000
(9)  SHER Ll dlv-lAL gl 12,000
ey HIR] ;

[ata A B
el oy (sq. feet) 5,000 3,000
Ualidl B () 4,00,000 | 3.00,000
SIHERIHL vl 40

UedE HigAHIA 7,350,000

eyl izl avul 10 5
e HogEl 50,000 | 50,000
=il Sl Wz 2 1 1

ClIECREICTENE

CICTE
5 CEE Al 531 (o A wiry 10
A1 gL 58 Vel sz & 0
(a)  UcUEL HIEAUMHIA (b)  aéladl 2154l WIR
()  HeHHA s¥{luin (d) @l o
(2) AR 58 wHal w7 -
(a) Bl wied (b) A eug
(€) A s3{laid (d)  Meds MM
(3) Al sl 585 wsctrl ug R 420l 7
() AU (B) oA UseR
(c) HMid ez (d) £ Wz
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@) AR sl 58w 2205 HeuisAdl ugld 6 ¢

(a) FIFO () LIFO

(c) Guld U312 (d) Gur-L ol
(5) 241 U] 54l oyl Hlofl a slEIsRS w22l 6

(a) 2ills «zel aresll (b) gt oveall

(c) xzloreai) (d) et oveal \\
(6) A1 Y8 56 v Al Bzl 2215 Bell gl AL €L 8 7

(a) LIFO ~ (b) FIFO (0

(c) eld :3a12 (d) Gyl oMl

(7) IR s 53 Sl MG Aloy-ul ‘iffﬂ-l oAl 6
(@) UHA AL 50%
(€)  RAE HHUAL50% 50%

(8) Al 585wl m@&am@ %\«
(a) Sl Aoyl Azl (M A g3l Alor-ul

(c) RNd- oy }HU At
9) Al Us] s 5 Tlﬂ‘r'-'i.lr'-‘-t& 'rlm MALE 9
(a) (b) sl dd
1 (d) qH dd-
g2l 2R <flovall Wl sl sen uzAL s 9
YR (b)  elloveil Sz vy
(c) Mcuat Wl (d)  GurAs] AgyeL 4R

I 8] 56 wg [l 2] 2lRid WSl wal-)l YASREL SR WAL 8 9
(a) Prud w{lseal sl (b) el 2 Wil g
© G [A2is-Ilugl (d) Burg) lsyel R
(12) {21 q8) 5200 2telR 32l vl s1eell 530 WA S 9

(a) Ucdel HIGURIA (b)  RI&L Ml M

(c) Rlat Hagdl @) Ewr-44 Hgye 4R




